
-30

50

40

30

-20 -10 10

20

©

I T ~

©

V
' V

10

-40 -30

1J K*

©

*L2

- 2 0 - 1 0

i i

&

0

20

® ©

30

©

10
STONE CITY KENNEL CLUB
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ANNETTE NAREL
EXCELLENT STANDARD
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ANNETTE NAREL
OPEN STANDARD
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STONE CITY KENNEL CLUB
OCTOBER 2, 2011
ANNETTE NAREL
OPEN FAST

send bonus is 1, 1, 10, all obstacles are bidirectional,
except teeter, dogwalk and chute



STONE CITY KENNEL CLUB
OCTOBER 2, 2011
ANNETTE NAREL
NOVICE FAST

send bonus is 1 to 10, all obstacles are
bidirectional, except teeter, dogwalk and
chute
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